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B. Sc. 4th Semester (Programme) Examination, 2021 

CHEMISTRY 

[Pharmaceutical Chemistry (T2)] 

Paper : UGP/S.C./404/SEC-2 

Course ID : 41410 

Time: 2 Hours                         Full Mark: 40 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমান ক্ষনশ্নদণশক | 

পরীিার্থীশ্নদর যর্থাসম্ভব ক্ষনশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব| 

 

 

1. Answer any five questions (যে য োনও পোাঁচটি প্রশ্নের উত্তর দোও):            2×5 = 10 

 

a) Give an example of nucleoside analogue drug used in the treatment of HIV. Draw its 

structure. 

ক) HIV চচচ ত্সোয় ব্যব্হৃত চনউচিওসোইড অ্যোনোলগ ড্রোশ্নগর এ টি উদোহরণ দোও। এর  োঠোশ্ন ো দোও। 

 

b) What is the full name of GABA?  What is its role? 

খ) GABA - র পুররো নোম কী? এর ব্যব্হোর কী? 
 

c) Name one cardiovascular drug and draw its structure.   

গ) এ টি  োচডিওভোস ুলোর ঔষশ্নের নো  ও তোর গঠন যলশ্ন ো।  

 

d) Which of the stereoisomer of Ibuprofen is biologically active?  How it acts? 

ঘ) Ibuprofen এর য োন যেচরওশ্নসো োর জৈচব্ ভোশ্নব্ সক্রিয়? এটি  ীভোশ্নব্  োৈ  শ্নর? 

 

            e) What is the use of paracetamol? Draw the structure of its metabolic product. 

ঙ)পযোরোচসিো ল ব্যব্হোর  ী? এর চব্পো ীয় পশ্নণযর  োঠোশ্ন ো দোও। 

 

            f) What product is produced in the glycolysis step of glucose? Give the reaction. 

চ) গ্লুশ্নকাে এর গ্লোইশ্ন োলোইচসস েোশ্নপ য োন পণয উত্পোচদত হয়? প্রচতক্রিয়ো দোও। 

 

            g) Give the name and the structure of a -lactum antibiotic. 

ছ) -লযো িো  অ্যোচিব্োশ্নয়োটিশ্ন র নো  এব্ং  োঠোশ্ন ো দোও। 

 

            h) Which vitamin contains adenosine as one of the structural parts?  

                Draw the structure of adenosine. 

জ) োঠোশ্ন োগত অ্ংশগুচলর  শ্নেয য োন চভিোচ ন অ্যোচডশ্ননোচসন েোরণ  শ্নর? অ্যোচডশ্ননোচসশ্ননর  োঠোশ্ন ো 

দোও। 
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2. Answer any four questions (যে যকোনও চোরটি প্ররের উত্তর দোও):            5×4 = 20 

 

a) What is synergistic effect? Why sulphonamides and trimethoprime are used 

combined? Give the use of acyclovir.                      1+2+2 = 5 

ক) synergistic effect  ী? য ন সোলশ্ন োনো োইডস এব্ং ট্রোইশ্ন শ্ন োচপ্র  এ ক্রিত ব্যব্হোর হয়? acyclovir 
এর ব্যব্হোর দোও। 

 

b) How aspirin relief from pain and inflammation? Give the retrosynthetic analysis of 

Paracetamol.                               3+2 = 5 

খ) ব্য ো এব্ং প্রদোহ য শ্ন  অ্যোসচপচরন  ীভোশ্নব্  ুক্রি যদয়। পযোরোচসিো ল এর retrosynthetic চব্শ্নেষণ দোও। 

 

c) Give the synthetic equivalent for the preparation of aspirin. Find the missing 

intermediate and the reagents.                                                                             2+3 = 5 

 
গ) অ্যোসচপচরন প্রস্তুশ্নতর ৈনয চসশ্নেটি  স তুলয দোও। চনশ্ন ো াঁৈ  েযব্তী এব্ং চরএশ্নৈিগুচল সন্ধোন  র। 

 

 
 

 

d) Give the name of the antibiotic containing trisaccaride unit. Give the structures of the 

antibiotic and assign each part.                     1+(3+1) = 5 
ঘ) টট্রসযো োরোইড ইউচনি েুি অ্যোচিব্োশ্নয়োটিশ্ন র নো  দোও। অ্যোচিব্োশ্নয়োটিশ্ন র  োঠোশ্ন ো দোও এব্ং প্রচতটি 

অ্ংশ চনে িোরণ  র। 

 

e) What are the products that are produces from glucose in aerobic oxidation reaction? 

Why mitochondria is said to have powerhouses or energy factories of the cell? What 

are the numbers of ATPs obtained in aerobic oxidation?         2+2+1 = 5  

ঙ) এযোশ্নরোচব্  অ্ক্রিশ্নডশন চব্ক্রিয়োয় গ্লুশ্ন োৈ য শ্ন  উত্পোচদত পণযগুচল  ী  ী? য ন  োইশ্নিো ক্রিয়োয় 

য োশ্নষর পোওয়োর হোউস ব্ো শক্রি  োর োনো রশ্নয়শ্নে? ব্োয়ব্ীয় ৈোরশ্নণ প্রোপ্ত এটিচপগুচলর সং যো  ত? 

 

f) What are the uses of citric acid? Give the commercial synthetic route for the synthesis 

of –Citric acid.                                     2+3 = 5 
চ) সোইটট্র  অ্যোচসশ্নডর ব্যব্হোর  ী? সোইটট্র  অ্যোচসড সংশ্নেষশ্নণর ৈনয ব্োচণক্রৈয  চসশ্নেটি  রুি দোও। 

 

3. Answer any one question (যে যকোনও একটি প্ররের উত্তর দোও):         10×1 = 10 

 

a) How do you synthesize sulphonamide from benzene? What type of drug is it? Mention 

the side effects of sulphonamide drugs. What is rectified spirit? How is it prepared from 

dilute fermented liquor?                                                                           4+1+2+1+2 = 10

       
ক) যব্নক্রৈন য শ্ন  সোল নো োইড চ ভোশ্নব্ সংশ্নেষণ  রশ্নব্? এটি চ  েরশ্নণর ড্রোগ? এই ড্রোশ্নগর সোইড 

এশ্ন ক্টগুচল আশ্নলোচনো  র। যরচক্ট োইশ্নয়ড স্পিচরি চ ? সন্ধোনৈোত পোতলো পোনীয় য শ্ন  চ ভোশ্নব্ 

যরচক্ট োইশ্নয়ড স্পিচরি পোওয়ো েোয়? 
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b) What are the technologies used in increasing efficiency of commercials biosynthesis? 

Discuss any one of them briefly. What are the precursors for the preparation of amino 

acids? Give the commercial synthetic route for the synthesis of Lysine.  

                                                                 2+2+3+3 = 10 

খ) জৈব্ সংশ্নেষশ্নণর দক্ষতো বৃ্ক্রিশ্নত ব্যব্হৃত প্রেুক্রিগুচল  ী  ী? এগুচলর যে য োনও এ টি সম্পশ্ন ি 

সংশ্নক্ষশ্নপ আশ্নলোচনো  র। অ্যোচ শ্ননো অ্যোচসড প্রস্তুচতর পূব্ িসূরগুচল  ী? Lysine সংশ্নেষশ্নণর ৈনয 

ব্োচণক্রৈয  চসশ্নেটি  রুি দোও। 

 

 

 

_________________ 


